St James School Weekly Quick Snapper June 3 2022













SJS had 18 track qualifiers for the Districts and they had a great day competing against the best of the best in the District on Thursday. They showed lots of heart, enthusiasm & sportsmanship.

A **BIG congratulations** to:

Halle Irving who placed first in Gr.4 girls High Jump

Mathis Paul who placed 1st in gr. 7 boys 800m

Carmel Durfeld with a 4th in Gr.7 girls 1500m

Charlotte Routley with a 4th in Gr. 7 girls 100m sprints and a 2nd in gr. 7 girls relay

Maddie Sakakibara 2nd in Gr.7 girls relay

Abigail Redekop 2nd in Gr.7 girls relay

Ashley Yuson 2nd in Gr.7 girls relay

Grade 4 had on display their creative works of "weaved cup" making



June 6 - June 10 School Events

- > June 6
 - o Gr 5 & 6 Eagle Bay
 - o Gr 7 Victoria
- > June 7
 - o Gr 5 & 6 Eagle Bay
 - o Gr 7 Victoria
 - o 9:00am Uniform Sale
 - 12:30pm 12:55pm Ukulele Club Gr 4&5
- > June 8
 - o Gr 5 & 6 Eagle Bay (return to SJS @ 12:00pm)
 - o Gr 7 Victoria
- ➤ June 9
 - o Gr 7 Victoria
 - o Gr 3 & 4 Kal Beach
 - o 12:30pm 12:55pm Choir
 - o 2:45pm 3:45pm Liturgical Dance
- **>** June 10
 - o Gr 7 Victoria

News from the PSG: Online Auction closes Friday, June 3 @ 2:30pm Pick up items today in SJS Parking Lot 2:30pm - 4:30pm



News from the Office:

CGL - Catholic Girls League Year End Party at Lincoln Lanes: Watch for your daughter's permission slip to come home next week.

SJS Walk-A-Thon - Our final fundraiser for the year is going to be a doozy!

ALL Classes that are successful at raising the equivalent of \$25/student will get a free ice cream of their choice from the Rusty Cow Ice Cream Truck on Fun Day (June 22 at 11:30am)!!!

So the class targets are:

K: 18 x \$25 = \$450

1: 16 x \$25 = \$400

2: 25 x \$25 = \$625

3: 14 x \$25 = \$350

4: 23 x \$25 = \$575

5: 19 x \$25 = \$475

6: 27 x \$25 = \$675

7: 28 x \$25 = \$700

Total: $170 \times $25 = $4,250$

And I will up the ante! As a school if we raise more than \$7500... \$2,000 + whatever we raise beyond \$7,500 will be added to Mrs. Kelly's Bracelets for the Ukraine initiative and I will let Mrs. Kelly and Mrs. Monaghan shave my head into whatever design they like (just don't touch the beard!) on the afternoon of FUN DAY. Let's Go!!!!







News from the Community:

Vernon Optometry

Did you know that eye exams are fully covered by a child's BC Care Card at Vernon Optometry? That's right; there is no cost to parents of children under nineteen with a valid BC Care Card! Please find the attached brochure.

Small Feet Children's Shoes



See attached flyer for details of this new Children's Shoe store opening Summer 2022

Upcoming events:

June 13 - Gr 1 & 4 Kingfisher Interpretive Centre

June 13 - CGL Year End Party - Lincoln Lanes

June 14 - Lunch Recess - final Liturgical Dance practise

June 16 - Entrepreneurial Fair

June 16 - Gr 4 Lawn Bowling

June 17 - SJS Walk-A-Thon

June 20 - Gr 7 Awards night

June 22 - SJS Fun Day

June 23 - School Year end Mass

June 23 - Last day of School (noon dismissal)